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QUESTION 1

Which three can an EJB-based endpoint use? (Choose three.)
A. HTTP sessions

B. Java EE 5 declarative security

C. Java EE 5 programmatic security

D. client-demarcated transactions

E. container-managed transactions

Correct Answer: BCE

QUESTION 2

Which statement is true about JAX-WS dynamic invocation?

A. Dynamic invocation clients use RPC typed interfaces to invoke the Web service.

B. Dynamic invocation lets clients access a Web service without a WSDL.

C. Dynamic invocation clients are bound at design-time to a single Web service.

D. Dynamic invocation requires the client to statically configure the Web service proxy.
E. The dynamic proxies provide dynamic invocation in JAX-WS.

Correct Answer: B

QUESTION 3

What are two reasons for choosing message-level security in a Web service? (Choose two.)
A. to support the use of SSL

B. to support multiple transport protocols

C. to selectively encrypt message content

D. to remove security information from SOAP headers

E. to support encrypted attachments

Correct Answer: BC

QUESTION 4
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RESTful Web services have an interface of well-known standard operations, and all services are accessed through this
interface. What are the four standard operations available for RESTful Web services? (Choose four.)

A. GET

B. CONNECT
C. PUT

D. SUBMIT
E. POST

F. HEAD

G. DELETE

Correct Answer: ACEG

QUESTION 5

According to the WS-I Basic Profile 1.1, which two statements are true about the targetNamespace attribute for
xsd:schema elements that are children of WSDL 1.1 type element? (Choose two.)

A. Its value must be valid unless it has xsd:import, xsd:annotation, or both as its only child elements.

B. Its value must be empty unless it has xsd:import, xsd:annotation, or both as its only child elements.

C. It should have same the value as the namespace attribute on the wsdl:import element in a document being imported.
D. It must have same the value as the namespace attribute on the wsdl:import element in a document being imported.

Correct Answer: AD
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